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(a) STINER DELIVERIES LTD. : P
Assets = Liabilities + Equity
Accounts Notes Accounts Share Retained Earnings
Date Cash |+ Receivable + Supplies; +: Equipment; = Payable Payable : +: Capital |+ Re —Exp — Dividend:
June 1) £10,000! +£10.000
June 2 —2,0005 +£14,000 +£12,000
8,000/ + 14,000 (= 12,000 10,000
June 3 =500 —£.500 (a)
7,500; + 14,000 (= 12,000 10,000 -500
June 5 +£4,800 + £4,300 (b)
7.5000+ 4,800 i+ 14,000 (= 12,000 10,000 + 4,800 -500
June 9 —300 —£300 (c)
7,200 + 4,800 i+ 14,000 = 12,000 10,000  + 4,800 | — -500 : - -300
June 12 +£150 +£150
7,200 + 4,800 (+ 150 :+ 14,000 = 12,000 150 |+: 10,000 + 4,300 : — 500 | - —300
June15 | _+1250  -1.250
8,450§+ 3,950 i+ 150 i+ 14,000 = 12,000 150 -+ 10,000 4,800 — =500 : - —-300
June 17 =100 -100 (d)
8,45IJE+ 3,950 '+ 150 i+ 14,000 = 12,000 250 =+ 10,000 + 4,800 — —600 - —-300
June 20 | _+1.500 + 1,500 (e)
9,95I]§+ 3,550+ 150 +; 14,000 = 12,000 250+ 10,000 + 6,300 - 600 - 300
June 23 500 -500
9,45(IE+ 3,550 i+ 150 (+ 14,000 = 11,500 250 i+ 10,000 + 6,300 - 600 (- 300
June 26 —250; _-250 i}
9,2005+ 3550 i+ 150 i+ 14,000 = 11,500 250 (+: 10,000 + 6,300 — -850 (- -300
June29 100! -100
9,1005+ 3550 i+ 150 i+ 14,000 (= 11,500 150+ 10,000 -+ 6,300 — -850 (-! -300
June30 | _-1000 _ _ _ —i -1.000 _ i
£8100 + £3550 + £150 |+ £14000 , = £11.500 £150 [+ £10.000 +; £6.300 - £1.850 (-i £300
~y ~
£25,800 £25,800




(b)

(c)

STINER DELIVERIES LTD.
Income Statement
For the Month Ended June 30, 2017

Revenues
Service revenue (£4,800 + £1,500)..................... £6,300
Expenses
Salaries and wages eXPenSe ... ceeeeeveceeeenanens £1,000
Rent eXpense ... e e e e een e me e een e 500
Utilities exXpense ... 250
Gasoling eXpPensSe ... oo 100
Total EXPENSES ... ceeeeeececeeerec e e ece e mr e een e . 11
Net iINCOME ... e se e s se e eenna £4.450
STINER DELIVERIES LTD.
Statement of Financial Position
June 30, 2017
Assets
Equipment. ... ... £14,000
18] o o] 1= S 150
Accounts receivable.............coo e, 3,550
L0 1 o S SR UOPR SR 8.100
Total assets ..., £25.800
Equity and Liabilities
Equity
Share capital—ordinary ......cocoeeeceieeeeeeeeee. £10,000
Retained earnings (£4,450 — £300) ........coeeeee.... 4.150
Total eqUItY ..o, £14,150
Liabilities
Notes payable ... e e 11,500
Accounts payable ... 150
Total liabilities ..., 11.650
Total equity and liabilities...........c.coommmee o £25.800



